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Problem 0:
Precision



Two Llangquages




One language




Tell me about your
refactoring

v YoUu accept
vall of Java
v nothing else =

v Transform 1t ' &l ,__,_

v Produce .
v nothing besides
v use all features
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Assumed commitment




app licability




Language




mapping




Liberal mappilng




mapping




Antirobust mapping




Fault recovery




Fault tolerance




Overtolerance




Shotgun effect
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Problem I:
App lication



Function extension




Function extension
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Goal 1s




Problem II:
Composition



Liberal +
conservative = ?

might not be the same extension!



Streamliners



identity



Use of =

partial to complete applicability



canoniser



Use of =

function composition
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codifier



Use of =

preventing the shotgun effect



normaliser



Use of ¢

function composition



Problem III:
Calibration



Dy

calibrator






Problem IV.:
Overapproximation



(L-L)-(L-L)-(L-L)

we might get a subset in the end
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id || ( is (L-L)

the only case where streamliners do not help



Conc lusion

v Flexible commitments everywhere
v Can be considered precisely

v Mapping extension 1s not trivial
v Composition with streamliners

v Calibration 1s still not trivial
v 0ccasional overapproximation

v Demo at :

v Questions?



